Math 212 Spring 2015 SHOW ALL YOUR WORK Quiz ONE

Consider the position vectors A = (-1,0,2,2) and B = (2,2,0,1) for all of the problems below.
1. (2 points) Compute A — 3B.
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2. (2 points) Find the coordinates of the midpoint between A= (—1,0,2,2) and B = (2,2,0,1).
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3. (2 points) Compute the dot product of A and B , L.e. A-B. Explain the geometric significance

of your answer.
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4. (2 points) Write down the vector equation (i.e. Z(t) = p'+ cft) of the line joining the points :
represented by the position vectors A and B. R ?g‘ Vv @ s (Aaf on (Fe
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5. (2 points) Write down the position vector of another point (OTHER than A or Bl) that
you are certain is on the line defined in Question 4. Is the point represented by position vector

C = (5,4,—2,0) also on the line joining A and B? How do you know? Explain your answer!
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